National Testing Agency

Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

141

B TECH

2023-04-10 13:34:47

180
300

Yes

B Eand B Tech

1
36669431
0

180

No

No

300
No
Cant View

No

Mathematics Section A

366694172

1



Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 1 Question Id : 3666943111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If £(x)= (tan1°)x +log, (123)
" xlog,(1234)—(tan1°)’

F(F(x))+ fI:fff]J is

Options :
3666949701, °
3666949702, 2
3666949703, !
8

3666949704.
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x =0, then the least value of



Question Number : 1 Question Id : 3666943111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ (tan1®)x +log, (123) e
e 1 (=) ~ xlog, (1234) - (tan1°)’ =>0 & d

r(r@)+ o[ () Proem

Options :
3666949701,
3666949702, 2
3666949703, *
8
3666949704.

Question Number : 2 Question Id : 3666943112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2

= -
b

: o : .

Let the complex number z=x +iy be such that > _r 15 purely imaginary. If
Z+1

x+y2 =0, then y' + y* - y is equal to:

Options :

Lol b

3666949705.

3666949706.



[l ]

3
3666949707,

1

3666949708, °

Question Number : 2 Question Id : 3666943112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T Y W z=x+iy® T 2= UF SRS T AR 1+ 2 =08, A

P
2z 41

F =

yt 442 }raﬂaiﬁ:

Options :

Lol b

3666949705.

[ R ]

3666949706.

e | L

3666949707.

we]

3666949708.

Question Number : 3 Question Id : 3666943113 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the system of linear equations

2x—y+3z=5
3c+2y—2="T
dx+bBy+az=4,

which of the following 15 NOT correct?

Options:

The system is inconsistent for ¢ =-5 and =8
36669497009.
3666949710, The system has a unique solution for @ # -5 and =28

The system has infinitely many solutions for ¢ =-5 and =9
3666949711.

The system has infinitely many solutions for @ =—6 and =9
3666949712.

Question Number : 3 Question Id : 3666943113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ya® gHiE Aer

2x—-y+3z=0

i

dx+2y—-2z=

dx +5y+az= 4,

FRuFgdasawad g &

Options:

36669497009.



a =574l f =8 & U gHiEl e SrTd &

2666049710, 4% 0T p=8 & fom wrfiwu e &1 & sifgdia ga @

a=-5aU g9 P fou gifie fFem & sFdea g
3666949711.

a =-6dYl g=9 & fou e Ao & oFd gd e
3666949712.

Question Number : 4 Question Id : 3666943114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If Aisa 3x3 matrix and

A; =2, then ‘? adj (

S.flidz]l is equal to
Options :

12 11
3666949713, © 6

12 100
3666949714, © O

10 11
3666949715, © 6

11 10
3666949716. R

Question Number : 4 Question Id : 3666943114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
UG 3x3 BIUD UG AT dYT |A|=2 B, Eﬁ‘ﬁ adj (|:m|nfﬁ}| LGRS

Options:

12 11
3666949713, © O

3666949714. °

10 11
3666949715, © 6

11 nl0
3666949716. R

Question Number : 5 Question Id : 3666943115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 )8 oy 1\
_,] and the coefficient of ™ in Lux + _}J
bx bx”

If the coefficient of x' in Lux :
are equal, then a'b? is equal to:

Options:

3666949717, 1

i

3666949718.

33
3666949719.



14
3666949720.

Question Number : 5 Question Id : 3666943115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2

\Ilii . _ . F \Ilfll ) . :
Hﬁi[ux- L)V & a1 o a1 | ax - ljflx”aﬂguww%,én

bx= ) | bx
atpt EER %’:

Options :

11
3666949717.

22
3666949718.

33
3666949719.

44
3666949720.

Question Number : 6 Question Id : 3666943116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let the first term a and the common ratio r of a geometric progression be
positive integers. If the sum of squares of its first three terms is 33033, then
the sum of these three terms is equal to

Options :

3666949721.



231

220
3666949722.

2
3666949723. 4

241

3666949724,

Question Number : 6 Question Id : 3666943116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHET U UK 961 & UYH U o a1 9id SFUd » YTHS QUi ¢ afg 39d
WYH olF U] & 971 6191133033 8, A S dH UgI H1 A B

Options :

231
3666949721.

3666949722,

3666949723.

3666949724,

Question Number : 7 Question Id : 3666943117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A square piece of tin of side 30 em 1s to be made into a box without top by
cutting a square from each corner and folding up the flaps to form a box. If the
volume of the box is maximum, then its surface area (in cm?) is equal to

Options :

=p]
=]
o

3666949725.

3666949726, 0Z°

3666949727, 200

3666949728, 500

Question Number : 7 Question Id : 3666943117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm YOl & @9 & U U TR Ths & YA DI R U dF dledh a4l 39
UBR € fo & Bas! 3 Hig IR &ad Ued TP Ig@ &M gl T Ugd @1
G I=dH €, dl 391 ¥ 8% (@ cm H) R &

Options :
675

3666949725.

3666949726, 020

3666949727, 200



3666949728, V0

Question Number : 8 Question Id : 3666943118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fnld o . i 1\' "
I Iixj= »{;_:"”’ *(cosxsin2x —sinx)dx and I(0)=1, then j{% | is equal to
e

Options :
3
—ad
3666949729,
E
4
3666949730. ©
, 8
— ph
3666949731, 2
i
3666949732,

Question Number : 8 Question Id : 3666943118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i

q-ﬁ: I[x}zI(Jsinz_r(u{}ﬁxgjngx h]ﬂx}{h ayl f[ﬁj]zl %rj ‘._‘ﬁ I %J azlaz%

L

Options :



-

3666949729.

3666949730.
3

.3

3666949731, 2
s

1 .3

2
3666949732,

Question Number : 9 Question Id : 3666943119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let f be a differentiable function such that x> flx)-x= f'lJ-":ff'[r]fﬂ i
f(1)=2. Then 18/(3) is equal to

Options :

150

3666949733.

3666949734, 160

3666949735. 1o

3666949736.



Question Number : 9 Question Id : 3666943119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAT TP ddaiid Bad / & g « f(x) -1-=.1j{':'¢m}dr,f{1}=§ gl
a1 18/(3) R &:
Options :

3666949733, 190

3666949734, 160

3666949735. 15

3666949736.

Question Number : 10 Question Id : 3666943120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. 0
x“+y

The slope of tangent at any point (x, ¥) on a curve y=y(x) is -
2xy

a0,
If ¥(2)=0, then a value of y(8) is

Options :

3666949737, 13

3666049738, ~4V2



3666949739, 2V3

23

3666949740,

Question Number : 10 Question Id : 3666943120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2 =
b y=y(x) B B8 W {6 (x, y) REOS @B HEO@ =22, 5 0 B

2xy

aflg y(2)=08, @ y(8) PTTH AF G

Options :

3666949737, V3

3666049738, ~4V2

3666949739, N3

3666949740.

Question Number : 11 Question Id : 3666943121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let the ellipse E: x% + 9y” =0 intersect the positive x- and y-axes at the points
A and B respectively. Let the major axis of E be a diameter of the circle C. Let
the line passing through A and B meet the circle C at the point P. If the area

F i 4 ia : m
of the triangle with vertices A, P and the origin O is —, where m and n are
T

coprime, then m—n is equal to

Options :

3666949741.

3666949742, 16

3666949743, 17

18
3666949744.

Question Number : 11 Question Id : 3666943121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ST E: 2 + 942 = o YD x a1 y &l BT Hr: fdgsff A 71 B R Frea

o1 {1 E &1 318, 90 C HT U AN g1 WA fagaf A 941 8 ¥ g1 9 dreil
W, 9d ¢ &1 fig p W Wedl 31 afe, Bys forad i A, p qur 4@ fdg 0 8 &1

%Wﬂ%%ﬁﬁm$%ﬁﬁﬁﬂﬁﬁmﬂﬁmﬂ%

Options:

3666949741, 1P

3666949742, 16
17

3666949743.



3666949744,

Question Number : 12 Question Id : 3666943122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A line segment AB of length 4 moves such that the points A and B remain on
the periphery of a circle of radius A . Then the locus of the point, that divides
the line segment AB in the ratio 2:3, is a circle of radius

Options :

3666949745, !

3666949746, “

3666949747.

it

3666949748.

Question Number : 12 Question Id : 3666943122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



/. Tias &1 U 391 T8 AB 39 UPR feudal ¢ [ fdg Aquie, 1 Boa & & qa
@1 Uiy W Tgd €1 < 39 fdg, off Yarde AB @1 2:3 & 3fura H fauTiord & &,
&1 fdguy us 94 &, foraa! Bw &;

Options :

V19

A
3666949745, !

V19 |
A

3666949746, °

Wi

3666949747.

5
3666949748.

Question Number : 13 Question Id : 3666943123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let two vertices of a triangle ABC be (2, 4, 6) and (0, -2, —=5), and its centroid
be (2, 1, —-1). If the image of the third vertex in the plane x+2y+42z=11 is

(e, B, 7), then aff + By + ya is equal to
Options:
3666949749, 'V

3666949750, 2

3666949751,



3666949752, 0

Question Number : 13 Question Id : 3666943123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HH1 U A4S ABC & & 2N (2, 4, 6) TUT (0, -2, -5) § U $5F (2, 1,-1) 1 TS
e 3 &1 gHad ~c+z:,+1z_11ﬁuﬁ‘fiﬁa & 8.y %t_‘nrxﬂ+ﬁf 4 W%’

Options :

3666949749, 0
3666949750, 2
3666949751,
3666949752,

Question Number : 14 Question Id : 3666943124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

) 5)
Let P be the point of intersection of the line = ; 9. JED PR and the plane

1 2
x+y+z=2. If the distance of the point P from the plane 3x-4y+122=32 1s

g, then g and 2q are the roots of the equation

Options :



2 +18x+72=0
3666949753,

3666949754,

3666949755, © 18X -T2=0

2 o
3666949756, ¥ —1ox+72=0

Question Number : 14 Question Id : 3666943124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T 1:23:3,--#2:1--3 qUT AT x+y+2=2 Pl Ufaeded g p 81 afe

| 2

fg P &1 TUAE 3 -4y +122=32 A GH ¢ ©, T ¢ TUT 2¢ 9 FHflamo & 7@ 2

Options :

2 +18x+72=0
3666949753,

X -18x-T72=0
3666949754,

3666949755, © 18X T2=0

2 o
3666949756, ¥ —1ox+72=0

Question Number : 15 Question Id : 3666943125 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the lines '_1 :‘—2: : and
x *1=Jf 1=z+3i$
1 2 0
Options :

3666949757, ©

=1

3666949758.

3666949759.

3666949760.

Question Number : 15 Question Id : 3666943125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+2 y z-=5 x—4 y=1 z+3
st et & d A gl &

Options :

3666949757, ©

3666949758,

3666949759, °



3666949760.

Question Number : 16 Question Id : 3666943126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let O be the origin and the position vector of the point P be s 2_,; +3k . If

the position vectors of the points A, B and C are —2; +_; —3k, 2 +4 _,r —2k and

—4; +2}—J§' respectively, then the projection of the vector OP on a vector

perpendicular to the vectors AB and AC is

Options :

e |

3666949761.

3666949762, ©

3666949763.

10

3666949764, °

Question Number : 16 Question Id : 3666943126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



o1 0 Ha fig B qur fg p o1 Rufa wfewr —i —2) + 3k 81 af figafia Bawc &

fufy afew e —2/ + j—3k, 2i +4) -2k TUT 41 +2) —kE 1A AB
TUAC & daad Us 9y W, G OP ST1U&U g

Options :

Lo | =3

3666949761.

| oo

3666949762, ©

3666949763. .

10

3666949764, ©

Question Number : 17 Question Id : 3666943127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An are PQ of a circle subtends a right angle at its centre (. The mid point of
the arc PQ is R. If OP =i, OR =v and OQ = aii + v, then g, B2 are the
roots of the equation

Options :

)
342 _9x 1=
3666949765, °F —2x¥—1=0

2 C o
3666949766, °F t2x—-1=0

2 a
3666949767, © X 2=0



x+x-2=0
3666949768.

Question Number : 17 Question Id : 3666943127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

U 9d &1 U 919 PQ TS s IR YHSIU -1d1 g1 91 pQ &1 ey fdg R §1 Tfe
OP =ii, OR=v 41 OQ = aii + fv ©, A a, p2 &4 THie0 & 4d §?

Options :

)
342 _9x_1=
3666949765, °F —2x¥~1=0

2 c o
3666949766, °F t2x—-1=0

2 g
3666949767, © X270

X ig-9=0
3666949768.

Question Number : 18 Question Id : 3666943128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let N denote the sum of the numbers obtained when two dice are rolled. If the
- N . m ) E
probability that 9V < N1 is —, where m and n are coprime, then 4m —3n
n
is equal to

Options :



36669497609.

3666949770, ¥

3666949771.

3666949772.

Question Number : 18 Question Id : 3666943128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT &1 U S TR W el & A N g1 Al 2N < N8R it uRwar =

I

€ S8l m Yl n AGEHII €, al 4m —3n WR &
Options :

3666949769.

3666949770, 1V

3666949771.

3666949772.

Question Number : 19 Question Id : 3666943129 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

i3 2r 47 8 16z .
96 cos — cos — cos — cos — 08 —— 15 equal to

33 33 33 33 33

Options :

3666949773.

| S]

3666949774.

3666949775.

3666949776.

Question Number : 19 Question Id : 3666943129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

2 A Br 167

96 cos—cos Ccos COS — CO08 R RS %:
33 33 33 a3 33
Options :
3666949773, |
3666949774, 2
)
3666949775.

3666949776.



Question Number : 20 Question Id : 3666943130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The negation of the statement
(pvag)algv(~r))is

Options :

3666049777, PVTIA(~9)

((~p)vr))a(~a)

3666949778.

3666949779. ((~p)v(~q)v(~r)

(~p)v(~a))r(~r)

3666949780.

Question Number : 20 Question Id : 3666943130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HYA
(pva)a(gv(~r)) B8 e

Options:

3666049777, PVTIA(~9)



3666049778, (" PIVT))A(~4)

((~p)v(~q))v(~r)

3666949779.
3666949780. {{~ B q}] A=)
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Question Number : 21 Question Id : 3666943131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let a, b, ¢ be three distinet positive real numbers such that

(2{1] log,. a L ”}(‘] log, b e h]ugf.;’«j _ rjl{]}'{f,:’_‘ .

Then 6a + 5be 15 equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666943131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
AT A i 41T ardfdes demadt a, b, ¢ & T (2a) %% @ = (be) *5? qut
b]ﬂgl,:ﬂ = (jlnﬁ"r %’[

al 6a +5bc W &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943132 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {n e 7 : | n?-10n+19 | < 6} 18

|



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943132 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T [neZ: |n*~10n+19] <e|FsmudiFEEn

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943133 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of permutations, of the digits 1, 2, 3, ..., 7 without repetition, which
neither contain the string 153 nor the string 2467, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 23 Question Id : 3666943133 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fa=1 grgfc &, sial 1, 2, 3, ... 7 & =i, fo=d 9 o g@ar 153 g1 9 & g@ar
2467 B, B GBI 8

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943134 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some couples participated in a mixed doubles badminton tournament. If the
number of matches played, so that no couple played in a match, is 840,
then the total numbers of persons, who participated in the tournament,

18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 24 Question Id : 3666943134 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$a aufdl 9 s gra ssfiied ufaaifar & e foran afe @a e &), oEfe
foadt +f Sufy 3 v 81 f9 | W A6l o g, &1 T. 840 €, o Ui & Hm
T a9 fdadl o od 9B 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943135 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
; s 3\10 .
The coefficient of x° in (1 —x+2x ) 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943135 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{1—x+2x3)m Hx’ EFIW% oo e
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943136 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The sum of all those terms, of the arithmetic progression 3, 8, 13, ..., 373, which
are not divisible by 3, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943136 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THIR Ul 3,8,13...,373 & 39 Wl ugi, o 3 ¥ @4 61 € &1 9 R ¢

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943137 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Let f:(-2, 2) > R be defined by

f(l):{(x[r] ,—2<x<0

e-1)[x], 0= <2

where [I] denotes the greatest integer function. If m and n respectively are

the number of points in (-2, 2) at which y = |f{r}| is not continuous and not
differentiable, then m+n is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943137 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HA f:(-2,2) > R

f(x):{{x[r] s e |

z=1)iz|., QLxx2

&R1 URMIT B, el [«] WewH qulfeb e 31 Af Sfered (-2, 2) ® 9 fagafl, fom
WR y =|f(x)| U T § AU AT T §, B G HHE: m AT €, A mo+n
ENERE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943138 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let y=p(x) be the parabola passing through the points (-1, 0), (0, 1) and
( 2

. y)s(x+1) +[_y—l}2£l, yip{x}} is A,

(1, 0). If the area of the region l

then 12(7—4A) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943138 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

wH fegait (-1, 0), (0, 1) Tyl
(1, 0) ¥ BB & 91 WRAAT y = p(x) 8197 &3

{(x.3): (x+1) +(y-1) <L y<p (x)| PTETFE AR, A 12(2-44)
TR &

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943139 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: 2 o :
Let a common tangent to the curves y“} =4x and [x—~'1] + yv“ =16 touch the

B,
curves at the points P and Q. Then (Pﬁ)] is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943139 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HATE®T 32 = dx T (x—4) + 5 =16 B} TS Suafg e Y, ae) &) figaft
p Ul Q W W &l 81l (PQ)* I R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943140 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If the mean of the frequency distribution

Class : 0-10 10-20 20-30 30-40 40-50

on

Frequeney : 2 3 x

15 28, then its variance 1s
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943140 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



i - 0-10 10-20

20-30

30-40

@1 HIeT 28 €, dl 3HT U9 §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 31 Question Id : 3666943141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M. of amplitude A along x-axis. At f = 0, the position of the particle is

== and it moves along positive x-axis. The displacement of particle in time ¢ is

=

x = Asin(wf + §), then the value § will be

Options :
*
2
3666949791,
&
3666949792, °
£
3666949793,
3666949794,

Question Number : 31 Question Id : 3666943141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X8 F I T Had T F B B S0 BT W A B WG = 0 W DU BN
@Jﬁh:% R Ud UG S x-dy $ SARY U B ¢ GWA F U BT R
:rzﬂﬁin{u.-rﬂij%,a:55[14]:5@1“:

Options :

b2 |

3666949791.



o |

3666949792.
il
3666949793,
z
3666949794, ©

Question Number : 32 Question Id : 3666943142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I :

List 1 List 11
(A) 3 Translational degrees of freedom (I)' Monoatomic gases

(B) 3 Translational, 2 rotational degrees (II) Polyatomic gases
of freedoms

(Cy 3 Translational, 2 rotational and (III) Rigid diatomic gases
1 vibrational degrees of freedom

() 3 Translational, 3 rotational and more (IV) Nonrigid diatomic gases
than one vibrational degrees of
freedom

Choose the correct answer from the options given below :

Options:
3666949795. (A)-(I), (B)-(IV), (C)-(11I}), (D)-(11)
3666949796, A-(). (B)-(ID), (C)-(IV), (D)-(I)

3666949797, W-(IV), (B)-(IIL), (C)-(ID), (D)-(T)



3666949798, A)-(IV). (B)-(ID), (C)-(D). (D)-(I1D)

Question Number : 32 Question Id : 3666943142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
G | 1 g 1 b iy e &

il LGl
(A) 3 VMR WdAdl &1 dife () UHARHATIEY T
(B) 3 WMIRIY, 2 uil TadadI &1 difedl  (II) TEURHTIE™ -
€ 3 ¥AFRRE, 2 guff td 1 s ) = Guad 19
¥l B DI
(D) 3 WHEFKRY, 3 IUff ud s A &1 (Iv) $es (Hg) feummrdiyg 19
S WoFdl dI ifedl
A fdu U fadeedi 7 9 9 SR I
Options :
3666949795, M-, (B)-AV), (C)-(I1), (D)-(ID)

3666949796, -0, (B)-(ID), (C)-(IV), (D)-(I)

3666949798, (A)-(IV), (B)-(1D), (C)-(D), (D)-(ILI)

Question Number : 33 Question Id : 3666943143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider two containers A and B containing monoatomic gases at the same Pressure (P),

Volume (V) and Temperature (T). The gas in A is compressed isothermally to é of its

1
original volume while the gas in B is compressed adiabatically to E of its original volume. The

ratio of final pressure of gas in B to that of gas in A is

Options :

[

3666949799.

3666949800,

3666949801.

oo | =

3666949802.

Question Number : 33 Question Id : 3666943143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3 §IRi A U4 B | WM 316 (P), 3M4dH (V) Ud a9 (T) W UHAURALENY T vt €1 A °
Eﬁﬂfhiaﬂ%nﬁﬂﬁhlﬁuilau#aﬂﬁﬁﬁﬁcmuﬂaéi% I T G fopan oren 8, wiafe 8
ﬁ?ﬁﬂﬁﬂ?ﬁlMqﬁaﬂﬁﬁﬂiﬂmﬁF1$?% YN 0 SGI U H I HdifEd fvm S g1 8 @
T 1 vd A T 19 & S gral $1 ST B

Options :

3

3666949799, 5

3666949800.



3666949801, ©

1
3666949802, °

Question Number : 34 Question Id : 3666943144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two satellites of masses m and 3m revolve around the earth in eircular orbits of radii r & 3 r
respectively. The ratio of orbital speeds of the satellites respectively is

Options :

3666949803, 11

3666949804, V31

3666949805.

3666949806.

Question Number : 34 Question Id : 3666943144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mTd 3m 0| dTdl < IUUE, Judl & IART 3R shsk: rTd 3 BT aredl geiig el & g
38 € SUEl B A Feli 91l P U @

Options :



3666949803.

3666949804, V31

3666949805.

3666949806.

Question Number : 35 Question Id : 3666943145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A physical quantity P is given as

evd

The percentage error in the measurement of a, b, ¢ and d are 1%, 2%, 3% and 4%
respectively. The percentage error in the measurement of quantity P will be

P

Options :

3666949807, 12%

3666949808, 1%

3666949809, 107

13%
3666949810.

Question Number : 35 Question Id : 3666943145 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P e IR P FA TSR TS &:
, a'h’
g
a b cUd P A T g3 U 3T I 1%, 2%, 3% Td 4% g1 AR P & 7oA & g3
yfc=rd e gntt:

Options :

3666949807, 12%

3666949808, 4%

3666949809, 107

13%
3666949810.

Question Number : 36 Question Id : 3666943146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Pressure in a reservoir of water is same at all points at the same level
of water.

Statement I1 :  The pressure applied to enclosed water is transmitted in all directions
equally.

In the light of the above statements, choose the correct answer from the options given below :

Options:



Both Statement I and Statement II are true
3666949811.

Both Statement I and Statement I are false
3666949812.

Statement 1 is true but Statement 11 is false

3666949813.

Statement [ iz false but Statement 11 is true

3666949814.

Question Number : 36 Question Id : 3666943146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i3 3 dyA g T E

YT UM S 0 A 5 & U da R Iuieyd 94 fegsfi R g g9F g g |

DY : W G (M) Ul W SR febam 7 <re, g feemsii & «rer wEn § Saha
g gl

QU Y & e #, A4 e v fawedi # 4 waifve Suged Iw 9.

Options :

3666040811, PUT | Td BT Il G WEl B

3666949812. T | T T 1 €l

YA | U HY- 11 TTeld &l
3666949813. e ¢

3666049814, P | 7T & UG U 11 E ©



Question Number : 37 Question Id : 3666943147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assuming the earth to be a sphere of uniform mass density, the weight of a body at a depth

d= g from the surface of earth, if its weight on the surface of earth iz 200 N, will be :

(Given R = radius of earth)
Options :

3666949815, SVON

3666949816, V0N

3666949817. 400N

3666949818, ' UN

Question Number : 37 Question Id : 3666943147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ul I THUHH GqHH 9@ &1 Tl A 8Y, Ife e fiug &1 4R 4R W 200N §,
R = X 31 TeRE W g0 WR A (R, R = gl 3 B

Options:

3666949815, V0N



3666949816, 00N

3666949817, 0N

3666949818. T

Question Number : 38 Question Id : 3666943148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The position-time graphs for two students A and B returning from the school to their homes
are shown in figure.

0 L

(A) A lives closer to the school

(B) B lives closer to the school

(C) A takes lesser time to reach home
(D) A travels faster than B

(E) B travels faster than A

Choose the correct answer from the options given below:

Options:
3666949819, ) (©) and (D) only
3666949820, V) and (E) only

B) and (E) only
3666949821, ) And (B)only



3666949822, 4> (C) and (E) only

Question Number : 38 Question Id : 3666943148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeTerd @ 31uA-30A R dlied gU g1 Bl A Ud 8 &1 Rufd-amg sifikg o o eufm man 8

13
A

0 t
A AfEeE s umEdRl
® B UEEaR
(C)  ABIRUgH { $H THY I ¢
(D) A, B! A H Ol el ¢
(£ B, A DI T H Ol I ¢

At fau e fasedt # 9 wel IW IH:
Options :
3666949819. &qd (A), (C) T (D)

3666049820, P (A) T (E)

3666049821, Ta0 (B) T (E)

3666949822. &ad (A), (C) U@ (E)



Question Number : 39 Question Id : 3666943149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The range of the projectile projected at an angle of 15° with horizontal iz 50 m. If the
projectile is projected with same velocity at an angle of 45° with horizontal, then its range

will be
Options :

50 m

3666949823.

B2 m

3666949824.

100 m
3666949825.

1002
3666949826. V2 m

Question Number : 39 Question Id : 3666943149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&fas ¥ 15° & HI0 R Y&g fFU MU Y& B W 50 m §1 IS T9E UAW S §HHE U d
&ifers ¥ 45° & HI0 R Yad fan o1 g, o %! Wi g:

Options :

B0 m

3666949823.

3666949824, P0VZ m



100
3666949825.

1002
3666949826. V2 m

Question Number : 40 Question Id : 3666943150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle of mass m moving with velocity v collides with a stationary particle of mass 2m.
After collision, they stick together and continue to move together with velocity

Options :
3666949827. "
E_.'-
3666949828, >
o
3666949829, °
E
3666949830, 4

Question Number : 40 Question Id : 3666943150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

v a7l A T BT G m GOHHI BT Dl BUI, 2m GoIHH dTdt fdf! R B A Fug Fal 8|
YT & 918, d Uh-gu U FIudHax U a1y o 37§ 9o ORI 3@d &, 98 a7 ¢



Options :

3666949827. "

ba | =

3666949828.

Lo | =

3666949829.

e |

3666949830.

Question Number : 41 Question Id : 3666943151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The equivalent capacitance of the combination shown is

Options:

c
3666949831, -

2.
3666949832.

2C

3666949833.



3666949834. ¢

Question Number : 41 Question Id : 3666943151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 70 HaeH $1 gl Uiiar &:

Options :

b |

3666949831.

3666949832.

3666949833, =€

3666949834. ¢

Question Number : 42 Question Id : 3666943152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
A carrier wave of amplitude 15 V is modulated by a sinusoidal base band signal of amplitude

3 V. The ratio of maximum amplitude to minimum amplitude in an amplitude modulated
wave 18



Options :

3666949835.

] |

3666949836.

3666949837.

ba | e

3666949838.

Question Number : 42 Question Id : 3666943152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 V IO dTel fobl d1gh oRvT 1, 3 v 3O dTdl WIdshig Higad Rwd & gRI Aighrd
e STt § 1 Smar Wigferd o & SifRihaw ST Ud AqH SMTaTH BT 3UTd g:

Options:

3666949835.

3666949836.

3666949837.

ba | ca

3666949838.



Question Number : 43 Question Id : 3666943153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A zener diode of power rating 1.6 W iz to be used as voltage regulator. If the zener diode has
a breakdown of 8 V and it has to regulate voltage fluctuating between 3 V and 10 V. The
value of resistance R, for safe operation of diode will be

R
—"WWy 0

Unregulated w Regulated

Voltage Voltage
O Q
Options:
3666949839, V€
3666949840, 12
3666949841, o<
3666949842, 9 ¢

Question Number : 43 Question Id : 3666943153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1.6 W Yo GTel U iR SRS &1 YANT dice o [HamHe & B4 H a1 o1 8| afg ok &t
o dicedl 8 V €, U4 591 3 V UG 10 V & d9 uRaldd g1 38 dices & Fafid s g, d

31T & YRI&T v & forg ufcRiy R, &1 AF g
Rs
o——NAy 0

Unregulated ~ Regulated
Voltage Voltage

o 0

Options:

3666949839, V€

3666949840, 2%

3666949841.

3666949842, 03¢

Question Number : 44 Question Id : 3666943154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The angular momentum for the electron in Bohr's orbit is L. If the electron is assumed to
revolve in second orbit of hydrogen atom, then the change in angular momentum will be

Options:

3666949843, 2F

3666949844, .



bo | e~

3666949845.

Zero

3666949846.

Question Number : 44 Question Id : 3666943154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIER Bl § SaaeH $1 IO a7 £ g1 TG SAdCH S Bgror WA $I gadl Sl |
Y1 &, 3 it W3 A g aRad- gnm:

Options:
2L

3666949843.

3666949844.

ba | B~

3666949845.

Zero

3666949846.

Question Number : 45 Question Id : 3666943155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  Maximum power is dissipated in a circuit containing an inductor,
a capacitor and a resistor connected in series with an AC source, when

resonance 0Ceurs
Statement 11 : Maximum power is dissipated in a circuit containing pure resistor due

to zero phase difference between current and voltage.

In the light of the above statements, choose the correct answer from the options given below :
Options :

Both Statement I and Statement I are true
3666949847.

Both Statement I and Statement II are false
3666949848.

Statement [ is true but Statement 11 is false

3666949849.

Statement I is false but Statement I1 is true

3666949850.

Question Number : 45 Question Id : 3666943155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PYF | : AC U U 4ot 1 § S[S U IR, U HYTRA Ud U U1y arel TRy | fferdaH
e o & Il 8, S1d SIS Biell 81

S 11 : T UleRIY ared uRay 7 it i & gl & Fiifs UIR1 vd dieel & o9
HAR LA g gl
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Options :

3666940847, PUT 1 T BT 1| AT W €

3666040845, T | T U 1| T T €

3666949849 P | HE1 § IR HU Il T &

HYA | TTeld & U DY I |
3666949850. ¢ wE
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a molecule in a gas at room temperature (300 K) is 4, . If the

temperature of the gas is increased to 600 K, then the de Broglie wavelength of the same gas
molecule becomes

Options:

3666949851, ~

3666949852,

3666949853.

V2 4,
3666949854,
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S & AUAA (300 K) W, felt T & o) 31 Sh-ahelt avreed 4, 81 9fe T &1 amomE
600 K 0% ST T Sl &, dl 39 714 & 3] B SI-si17Tell aTged gl st

Options:
k.
2™
3666949851. ~
24
3666949852.
1
Ay
9
3666949853. 2
¥2 4,
3666949854.
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Instruction Time: 0
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An object is placed at a distance of 12 em in front of a plane mirror. The virtual and erect
image is formed by the mirror. Now the mirror is moved by 4 em towards the stationary
object. The distance by which the position of image would be shifted, will be

Options :

3666949855, 2 ¢m towards mirror

3666949856, *¢m towards mirror



8 cm towards mirror

3666949857.

8 em away from mirror

3666949858.

Question Number : 47 Question Id : 3666943157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0% 9% [l 99dd U0 & 9O 12 cm @ g8 W W g1 30 gR1 SRR ud e
yffara &1 g1 3@ UVl & RRR TG D IR 4 cm FEHH™ o1 §1 o gl ¥ wfiaa
@1 R fawafta gnfl, a8 &:

Options :

3666949855, 2 Cm UV &I 3R

3666940856, 4 €M ST BT SR

3666949857, © €M U @1 SR

8 cm U AR
3666949858.
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The energy of an electromagnetic wave contained in a small volume oscillates with



Options :
zero frequency

3666949859.

3666949860, ‘he frequency of the wave

double the frequency of the wave

3666949861.

half the frequency of the wave

3666949862.
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fohell B ofaaH § degadad g avi & Sl ford Mgy & F1Y Sl Bl 8, 98 &

Options :

3666949859. g

3666949860. AT Hl }

a1 3Mgfd $1 SR ST

3666949861.

AT @ Sgfed ot anelt sraf

3666949862.
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : If the number of turns in the coil of a moving coil galvanometer is

doubled then the current sensitivity becomes double.

Statement 11 . Inecreasing current sensitivity of a moving coil galvanometer by only
increasing the number of turns in the coil will also increase its voltage

sensitivity in the same ratio
In the light of the above statements, choose the correct answer from the options given below :
Options:

Both Statement I and Statement II are true

3666949863.

Both Statement I and Statement Il are false
3666949864.

Statement I is true but Statement 11 is false
3666949865.

Statement [ is false but Statement 11 is true
3666949866.
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Options :

FYF | Td YA 1l g1 |
3666949863. e AT E

3666949864, PUT | T HU 11 T T

3666940865, T | eI € TR U 11 7T B

3666949866, P T § TR Y 1l e 1
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equivalent resistance of the circuit shown below between points @ and b is :

Options :



3666949867, 6L

3666949868, 20 %2

3666949869,

3666949870,

Question Number : 50 Question Id : 3666943160 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 4 Wrong Marks : 1
9 ST 0 uRuy &1 9 o Td » S 9 &1 g WY ©

Options:

3666949867, 6L

3666949868, UL

3666949869.

3666949870, -
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Question Number : 51 Question Id : 3666943161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two wires each of radius 0.2 cm and negligible mass, one made of steel and the other made of
brass are loaded as shown in the figure. The elongation of the steel wire is

x 10" m . [Young's modulus for steel = 2x10"' Nm ™ and g =10 ms™>

_L/_/_/LLQI(
1.6 m steel

| L 2 kg
1 m brass

(1.14 ke

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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0.2 cm 9 B3] 910 &1 G0 Afed aR, TeRid i # Ui oFER WRI 9 @€ € ford
U6 dR ®ld & &1 ¢ U4 g Ulad (brass) § Ffifd g1 €d & aR &1 TR
x 10 m & (&1 1 T PGP = 210" Nm2, g =10 ms™?)|

_.L/_L[LLLT
1.6 m steel

!
I 2 kg

1 m brass

1.14 kg
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A transverse harmonic wave on a string is given by
yix, t)=>5=n(6¢+ 0.003 x)

. . <l s |
where x and y are in em and { in sec. The wave velocity is ms .
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TRl IR =e @1 U YR T T FAgad € 7S @

yix, ) =5 sin(6¢ + 0.003 x)

ol x Ud ¥ B em WG ¢ S T 81 a0 &1 37 ms™ g
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If the earth suddenly shrinks to ath of its original volume with its mass remaining the
i)

24 ;
same, the period of rotation of earth becomes —# . The value of x i3
x
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gfe gedl 3@HS § 304 dRdfde 3 & éﬁﬁg@mmﬁimmﬁwﬁ

gt &1 o %h ATl « HIAN o
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A closed circular tube of average radius 15 cm, whose inner walls are rough, is kept in
vertical plane. A block of mass 1 kg just fit inside the tube. The speed of block is 22 m/s,
when it is introduced at the top of tube. After completing five oscillations, the block stops at
the bottom region of tube. The work done by the tube on the block is J.
(Given g =10 m/s?).

29 ms”’
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15 cm 319 BsY 9Tl U ¢ GaldR el &1 IR dd § @ 9 g, ot <Rk ¥
GG 81 1 kg SOHM BT U eI el & <R &9 TN T 3| 9 e Bl el & R
HU U R W T &, @ SUD! 91 22 mys g1 Ul SIad Q0 SR & a1G el Al
e fEs & Sadr g | ell g1 e R &1 T Hr JR @R g=10 m/s)l
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Three concentric spherical metallic shells X, Y and Z of radius a, b and ¢ respectively
[ < b <e] have surface charge densities o, — o and o, respectively. The shells X and Z are

at same potential. If the radii of X & Y are 2 em and 3 em, respectively. The radius of shell Z
18
cm.
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a, b ¢ [a <b <] B ard o S6=<1g uifdd ST X ¥ T8 270 Y8 4RI 9 HHIE:
0.0 W o g1 B ¥ W& 7 R 3y I9H g1 afe o1l x T v &1 Boui $Hg: 2 cm T
3cm%tmfﬁﬁaﬂ cm%l

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943166 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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The decay constant for a radioactive nuclide is 1.5x107s™". Atomic weight of the substance
is 60 g mole™, (N, = 6x10™"). The activity of 1.0 pg of the substance is 10" Bg.
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folt Afgaufded i@ &1 &g FOdid 1.5x10%s §1 T &1 TRAN] 4R 60 g mole &
1.0 ug a1y @t |ichaam xl(]”'Bq%’('ﬂﬁ{NA =6x10%)
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10
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Unpolarised light of intensity 32 Wm™ passes through the combination of three polaroids

such that the pass axis of the last polaroid is perpendicular to that of the pass axis of first
polaroid. If intensity of emerging light is 3 Wm=, then the angle between pass axis of first
two polaroids is :
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10
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32 Wi cliaiall drel Sfyfdd U, 3 dieRkigs! & HaioH § UIkd i & o [ 39 UHR
W ¢ & sifow diekize &1 uila se, Uyd Uiekize & Ulid oy & @vadd ¢! gl Ffd
TS $I dgar 3 Wm2 8 o Ugd &l UieRisel & UING Si&l & dld &1 B
o (5 &1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 58 Question Id : 3666943168 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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A 1 m long metal rod XY completes the circuit as shown in figure. The plane of the circuit is
perpendicular to the magnetic field of flux density 0.15 T. If the resistance of the cireuit
is 5€), the force needed to move the rod in direction, as indicated, with a constant speed of

4 m/s will be 107N .

XXX b by
b3 * * b
o £ — U
*® * P ®
x Y x b ®
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1 m awdll Uifdd T xy Uelid [ & SFER fodl aRoy &1 quf &3 3@ §1 oRkey &1 qd
0.15 T /a9 B-d a10l g8 &3 & Taad ¢ | §S ®I 31! T8 fGu 7 4 m/s @1 Fgd 91a

T I & o faws 9d 10° N8l
X X X = X
X X = X
5Q § I )
X X b X
X Y X = X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943169 Question Type : SA Calculator : None
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The current required to be passed through a solenoid of 15 em length and 60 turns in order to
demagnetise a bar magnet of magnetic intensity 2.4 x10° Am™ is A
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Evaluation Required For SA : Yes
Show Word Count : Yes
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Text Areas : PlainText
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2.4x10° Am™* FrIBIY clledl dTell §-Joadh Bl fagadh H & (6T, 60 O dTefl T 15 cm
vl URARIST | oA dTell SATaRae URT &1 HH ARl
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10 resistors each of resistance 100 can be connected in such as to get maximum and

minimum equivalent resistance. The ratio of maximum and minimum equivalent resistance
will be
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3{f¥eh e Ud gAdH el HicRlY U1 3 & fAw 10 UioRIeT 1 S1erT-31el YR ¥ SIel off
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of molecules and moles in 2.8375 litres of O, at STP are respectively

Options :

3666949881, 1-505 x 10 and 0.250 mol

3666949882 7.527 = 10%* and 0.125 mol

7.627 » 10%2 and 0.125 mol

3666949883.

7.527 x 102 and 0.250 mol

3666949884.

Question Number : 61 Question Id : 3666943171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
STP R 0, P 2.8375 tilex # {U[3{i Ud Hidl &1 &= 8, HHS: -
Options :
23 |

23 3
3666949882, -227 x 107 Td 0.125 mol

22 T
3666949883, /227 x 1074 0.125 mol

22 T
3666949884, '+227 * 107 Ud 0.250 mol



Question Number : 62 Question Id : 3666943172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given
(A)  2CO(g)+0,(g) = 2C0,(g) AH =—x kImol™
(B) C (graphite) + 0.(g) - CO.(g) AHS =-y kJmol™

The AH” for the reaction
C(graphite) + ll?f}:{gj — CO(g) 1s
Options :

x+ 2y
2

3666949885.

2y—x

3666949886.

2x -y

2]

3666949887.

3666949888, >
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Correct Marks : 4 Wrong Marks : 1



WW%:

(A) 200(g) + Ou(g) = 2C0.(g) AH] = —x kJ mol™
(B) C (graphite) + 0,(g) —» CO,(g) AHY=-y kJmol™
oo & fou A’ ©:

C(graphite) + %Dgiglaﬂ‘.{][g} is

Options :

3666949885, 2

Qy—x
3666949886.

3666949887.

3666949888, -
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The enthalpy change for the adsorption process and micelle formation respectively are

Options :
3666949889, Huw<0 and AH,, <0
3666949890, T Hau>0 and AH,, >0

AH ;. >0 and AH_, <0
3666949891. i



3666949897 Hea<0 and AH,, >0
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3ffergiryor ufehan vd fode Fmior & forg s el uRadH @:

Options :

3666949889, Haw<0 and AH,, <0

3666949890, a0 ART AL 30
ﬂH“l"}ﬁ and ﬂHmlL- < ()

3666949891,

3666949892 AH, ;. <0 and AH_, >0
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Which of the following is used as a stabilizer during the concentration of sulphide ores?

Options :

3666949893, Xanthates



3666949894, Ine oils

Cresols

3666949895.

3666049896, | ALty acids
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PSS OH] & FigUl & A 390 9 $H RIMGR] & ¥4 § IugiT fod1 S g2

Options :

3666949893. St

3666949894, IS 1 dd

3666949895.

J41 3R
3666949896.
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(Given below are two reactions, involved in the commercial production of dihydrogen (H,).

The two reactions are carried out at temperature T, " and “T. ", respectively

C(s) + H,0(g)——C0(g) + H,(g)
CO(g) + H,0(2)—C0, (g) + H,(g)

atalyst

The temperatures T, and T, are correctly related as

Options :

3666949897, 1L

3666949898, 1 <L

3666949899.

T, =100 K, T, =1270 K
3666949900.
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A &1 sfiforan & 715 &1 S SIgegeien (4,) & AGHIN® Jded § dafed g1 &l
ST W “ 1y Ud 1, " A9 U Efed &l Sl g |

C(s) + H,0(g)——CO(g) + H,(g)

CO(g)+ H,0(g)—=—C0, (g) + H,(g)

Catalysi

A9 T, Ud T, e UR & WiEid ¢

Options :
3666949897, 17 L

3666949898, 1 <L



3666949899. hi=h

T, =100 K, T, =1270 K
3666949900.
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Lime reacts exothermally with water to give ‘A’ which has low solubility in water. Aqueous
solution of ‘A’ is often used for the test of CO,. a test in which insoluble B is formed. If B is

further reacted with C0, then soluble compound is formed. ‘A’ is
Options :

Quick lime

3666949901.

3666949902, -ime water

3666949903, © aked lime

White lime
3666949904.
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A1 el & W1y SSHIET S Heeb ‘A’ §11 € foraa! ot A faciaan &9 81 ‘A’ & Sl
faee &1 co, & wemr  ur: ARt S 8, for whemn | sifde 8 &aT 31 i 8
@1 fohd1 47: o, & I &t W1T o1 U facg diffie Aifa g g1 A g -

Options :



3666949901. SEECIEY

3666949902. E‘L—;T P1arl

3666949903. =

3666949904. 4d T
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The compound which does not exist is

Options :

3666949905, FPEL:

(NH, ), BeF,
3666949906. :

NaQ,
3666949907. B

BeH,
3666949908. f
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Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
dg Ui it =& uran S 8:

Options :

3666949905, ' PEt:

(NH,),BeF,
3666949906. .

NaQ,
3666949907. B

BeH,
3666949908. :

Question Number : 68 Question Id : 3666943178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct?
(A) The M*/M** reduction potential for iron is greater than manganese.
(B)  The higher oxidation states of first row d-block elements get stabilized by oxide ion.

(C)  Aqueous solution of Cr*” can liberate hydrogen from dilute acid.

(D)  Magnetic moment of V" is observed between 4.4 — 5.2 BM.

Choose the correct answer from the options given below:

Options :

3666949909, W) (B) only

3666949910, (B (C)only

3666949911, (C). (D) only



A). (B). (D) only
3666949912, ) (B (D) only

Question Number : 68 Question Id : 3666943178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 o 9 HH Y FYT 981 87

(A)  SIERA S MM I faHa BT 9 34 gl

gﬁ;ﬂﬁﬂim It Tl & IR MBI SR 3ffauEs gl gR wifigd
|

(©  Cr* 1Y faegd & o A gI3gIoH 4ol R Febal g
D) v PITEDIE AU 4.4 - 5.2 BM & A Udd fma man g
it fau e fadedt & | 9 SR

Options :

36669499009. A). (8)

3666949910. (B). (O

3666949911, (C). (D) Fad

3666949912, (A (B (O) FaT

Question Number : 69 Question Id : 3666943179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The octahedral diamagnetic low spin complex among the following is

Options :



3666949913, LTl

3666949914, TMCLIT

[Co(NH,) ]
3666949915.

[CoCL]*
3666949916.

Question Number : 69 Question Id : 3666943179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
15 & 9§ siywae g ufagaeid (9 uHl 99 8

Options :
3666949913, [Co%I

3666949914, LHCLT

[Co(NH,) ]
3666949915.

[CoCL,*
3666949916.

Question Number : 70 Question Id : 3666943180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

List I List I1
Industry Waste Generated
(A) Steel plants (I)y Gypsum
(B) Thermal power plants (II) Fly ash
(Cy Fertilizer industries (IIT) Slag
(D) Paper mills (IV) Bio-degradable wastes

Choose the correct answer from the options given below:
Options :

3666949917. (A)-(I1D), (B)-(1I), (C)-(I). (D)-(IV)

3666949918, A-(1D, B)-IV), (C)-(D), (D)-(ID)

3666949920, W-@V). B)-D), (C)-(ID, (D)-(1D)

Question Number : 70 Question Id : 3666943180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T | 1 gl 1 e &Y

el Tt
SgiT Iarfed srufRig
(A) Hid 1y fomm
(B) IW wfdq HIfF Iy IsATE
(C) I IENT (oI e
(D) PTTS & fFet (v) S 3mue sy
A9 R e fAwedl & 9 9t S g

Options :

3666949917, W-UID. (B)-(IT), (C)-(I), (D)-(IV)

3666949918, A)-ID), (B)-(IV), (C)-(D), (D)-(IT)

3666949919, A-(D, (B)-(ITD), (C)-(IV), D)-(D)

3666949920, “W-IV). (B)-(). (C)-(ID). (D)-(1ID)

Question Number : 71 Question Id : 3666943181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Using column chromatography, mixture of two compounds ‘A’ and ‘B’ was separated.
‘A’ eluted first, this indicates ‘B’ has

Options :

3666949921, 1igh Re weaker adsorption

3666949922, high Ry, stronger adsorption



low He, weaker adsorption

3666949923.

low Ry, stronger adsorption

3666949924.

Question Number : 71 Question Id : 3666943181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hlad ducEd &1 IWN e & dfEl A U B Bl UYd fbar
A" U5 Havd Pedl 81 & B &1 3 -

Options :

3666949921, S Ry, Geial JMfiE0]

3666949922, S Ry, Uad ey

3666949923, 17 Ry, Geidl AU

3666949924, |14 R, FEl SHIURITHUI

Question Number : 72 Question Id : 3666943182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The pair from the following pairs having both compounds with net non-zero dipole moment is
Options :

cis-butene, trans-butene

3666949925.



3666049926, C 12l CHCL

1.4-Dichlorobenzene, 1,3-Dichlorobenzene

3666949927.

Benzene, anisidine

3666949928.

Question Number : 72 Question Id : 3666943182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fre % @ 9 g forme 1 AT 1 ufvonfh fega sl g =21 @

Options :

3666949925, Rrg-sgfes], ghe-gfe

3666949926, © Ul CHCL

3666949927, 1:4-STRHIRIGSI, 1,3- STEHRIRISSI

3666949928. :

Question Number : 73 Question Id : 3666943183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct order of reactivity for the following pairs towards the respective
mechanism

)\/H' XHI'
(A) 8,2 w

Br
@/\m ©/\/
=
(B) Syl
Cl (]
@ >
() Electrophilic substitution
NUz

Br
Br
@ {
(D)  Nucleophilic substitution
f\"()z

Choose the correct answer from the options given helow:
Options :

3666949929, (B). (C)and (D) only

3666949930, A (B) and (D) only

3666949931, (A (C)and (D) only

3666949932, ) (B (C) and (D)

Question Number : 73 Question Id : 3666943183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ﬁTHﬁﬁ%ﬂﬂaﬁlﬁrﬁaﬁi{ﬁﬂlgﬂﬁaiﬁmz&ﬁmﬁﬂmﬂﬁﬁﬂﬁiEﬁﬁaﬂqaﬁtﬁﬁw$

(] ]
@ -—- é;
(€  ScaeH Wel ufdwurd= r

Br
Br
Q<
(D) e |el ufawira=
NO,

1 feu U fasedl 7 @ |l IR g
Options :

3666949929. ®). (C) & (0) ¥

3666949930, (A (B) T (D) Had

3666949931, (A (€)W (D) FacT

3666949932, " B (O TI (D)

Question Number : 74 Question Id : 3666943184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The major product ‘P’ formed in the given reaction is
CH,CH,
(i) alk. KMnO,, A

COOCH, : ; ¥ X
Hy (ii) H,0 Major Product

g

CH=CH,
Options :

CH,COOH

iy COOH

3666949933. H

COOH

({ YOI

COOH
3666949934.

CH,COOT

COOH

8

3666949935, V¢

COOH

o

COOL

3666949936,  CVOM

Question Number : 74 Question Id : 3666943184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fau mu iffeean # FAfifa g 3@ P &

CH,CH,

!i]ln'lii () alk.KMnO,, &
1 v > P
JCH,, - ;
COOCHs (1) Hy0 Major Produet

CH=CH,

‘P’ major product is
Options :
CH,CO0H

i COOH

HO——H
Hiy——H

3666949933, H

COOH

lli; COOTI

COOH

3666949934,

CH,COOH

COOH

3666949935,  VCHs

COOH

COOH

COOH
3666949936.

Question Number : 75 Question Id : 3666943185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Suitable reaction condition for preparation of Methyl phenyl ether is

Options :

T .
3666949937. PhONa®, MeB:

C. @
3666949938, RO Na”, MeOH

Ph - Br, Maﬂgwa@
3666949939,

Benzene, MeBr
3666949940.

Question Number : 75 Question Id : 3666943185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
AfYd e sUR & FAT g wgfd sifiifhar g &:

Options:

B .
3666949937. PhON®, MeB:

S @
3666949938, RO Na”, MeOH

Ph - Br, Meogwa@
3666949939,

Benzene, MeBr
3666949940.



Question Number : 76 Question Id : 3666943186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Isomeric amines with molecular formula C,H,,N give the following tests

[zomer (P) = Can be prepared by Gabriel phthalimide synthesis
[somer () = Reacts with Hinsberg's reagent to give solid insoluble in NaOH

Isomer (R) = Reacts with HONO followed by £ — naphthol in NaOH to give red dye.

[somers (P), (Q) and (R) respectively are

P Q R
Options:
N—H
NH,
NHCH, ’ 1
CH,
3666949941,
NH, Al NH,
CH,
CH,
3666949942,
Ell
[::::I::jjllg [::::J,,fxaufszJllg [:::::(HP4-,H”
3666949943,
NH, N—CH, NH,
@N CH,
3666949944,

Question Number : 76 Question Id : 3666943186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
C,H,N 310 §3 18 FHmaae T g wdieor 3a 3

YHEEd (P) — Jfeud Afemgs Seawur gRI (i e o 9@ §
YHIaG4 (Q) - F=ga it & a1y g1 HX NaOH H Sfdeg a1 §d1 §
YHIGEd (R) = HONO & WY foha1 & SRR NaOH # 4 d & |1y A1 Ioid &1l ¢
YHIaYE HHE: (P), (Q) 3R (R) B,

p Q R

Options :
N—H
NH,
CH,
3666949941,
NI, N—H NH,
@/‘\/ (‘H \/@/
CH,
3666949942,
[ll
3666949943,
N—CH, NH,
o g
3666949944,

Question Number : 77 Question Id : 3666943187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List II

List I List I
Polymer Type / Class
(A) Nylon-2-Nylon-6 (I) Thermosetting polymer
(B) Buna-N (II) Biodegradable polymer
(C) Urea-formaldehyde resin (IIT) Synthetic rubber
()  Dacron (IV) Polyester

Choose the correct answer from the options given below:

Options :

3666949945, -0, (B)-(D. (C)-(IV), (D)-(I1D)

3666949946, M-(ID), (B)-(II1), (C)-(D), (D)-(IV)

3666949947, M-(IV). (B)-(D), (C)-(I1D), (D)-(11)

A)-(IV), (B)-(IIT), (C)-(T), (D)-(IT
366694994, V- IV): (B)-(ID, (C-(D), (D)D)

Question Number : 77 Question Id : 3666943187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | 1 fHaE gl 1 aHl

gt 1 gt 1
C D UHR / T
(A) ZdM-2-A13d-6 () Y=g dgad
(B) SA-N () o Fgieu sgas
€ FRu-wHfeeRs E (1) IXaitd W
(D) SHiH (IvV) Oifele&y



Options :

3666949946, (A)-(IT), (B)-(I11), (C)-(T), (D)-(IV)

3666949947 A)-IV). (B)-(D). (C)-(11D), (D)-(ID)

A)-(IV), (B)-(IIT), (C)-(D), (D)-(IT
3666949948, V-V, (B)-(HD. (C-(D), (D)-(IH

Question Number : 78 Question Id : 3666943188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one that does not stabilize 2° and 3° structures of proteins is
Options :

3666949949, IH-bonding

3666949950, — O~ —linkage

— 5 -8 —linkage
3666949951.

van der Waals forces

3666949952,

Question Number : 78 Question Id : 3666943188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

9 7 9 a8 ol WA & 2° 3R 3° WISl &1 wrdigd el Hd &:
Options :
3666949949, oI

3666949950, ~ O~ O~ dH

3666949951, ~ >~ S~ S

3666949952. i

Question Number : 79 Question Id : 3666943189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given helow are two statements:

Statement | : Agqueous solution of K,Cr,0; is preferred as a primary standard in

volumetric analysis over Na,Cr,(), aqueous solution.

Statement 11 : K,Cr,0. has a higher solubility in water than Na,Cr,0,.

In the light of the above statements, choose the correct answer from the options given below :

Options :
3666949953, Both Statement I and Statement I are true
3666949954, Both Statement I and Statement II are false

3666949955.



Statement I is true but Statement 11 is false

Statement I is false but Statement I1 is true

3666949956.

Question Number : 79 Question Id : 3666943189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TFRAFERTME:

HYE| TS fagamor | gruffie aF® & 9 § K00, & o fdam
&1 0 H Na,Cr,0, & Sl faaad & g § i g

SFIN : NaCr0, DJaH K,Cr,0, ! od H fadad i g 1

JuYa Hol & eH #, A1 U T fasedl § @ waiites Jugd IW g4
Options:

3666949953, HYUA | Td &Y 1| IFl ¥El B
3666949954, YA | Td YA || G Tad gl
3666949955, DU | Wel § TR=g P 11 7Terd B

3666049956, P | TeId & U] U Il Fel B

Question Number : 80 Question Id : 3666943190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Prolonged heating is avoided during the preparation of ferrous ammonium sulphate to
Options :
3666949957 prevent hydrolysis

prevent breaking

3666949958.

3666949959, Prevent reduction

prevent oxidation

3666949960.

Question Number : 80 Question Id : 3666943190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B AT Hdbe & FA & SR T 99 a6 TH H39 3 991 99l ¢ o
Options :

3666949957, I HUHCH H 4T o b

3666949958, oC71 4 Sl ol Wb

3666949959, SUAdT H &I Sl Wb

3666949960, SGITHIU H &4 o ¥
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Question Number : 81 Question Id : 3666943191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

At constant temperature, a gas is at a pressure of 940.3 mm Hg. The pressure at which its
volume decreases by 40% is ——— mm Hpg. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943191 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R aoHH W, {5 19 #1316 940.3 mm Hg 81 98 &9, ORIUR I9H1 SIRIGH 40% T¢

WM E—— mm Hg.(ﬁaﬁﬂqw

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943192 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of incorrect statement/s about the black body from the following is

(A)  Emit or absorb energy in the form of electromagnetic radiation.
(B)  Frequency distribution of the emitted radiation depends on temperature.

(C) At a given temperature, intensity vs frequency curve passes through a maximum
value.

(D)  The maximum of the intensity vs frequeney curve is at a higher frequency at higher
temperature compared to that at lower temperature.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943192 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
el POIT (Black body) & ey &, 8 H ¥ o Syl &1 &A1 §:

() faggd green fafdu & w0 1 39 @1 Iaafold a1 sa<ifid St &1
B)  Ifold fafdwu &1 sgfy faavur aromM R PR & g

(©  foelt few U aromE W, diddl vs g 9 U 3=y AF ¥ g Tordl 8

(D) mﬂévs&ﬁﬁﬁﬂm,mﬂwﬁﬂﬂﬁ,ﬁﬂmﬂﬁﬁmm
Bargl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943193 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of bent-shaped molecule/s from the following is

N;, NO;, L, O,, SO,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943193 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Fa A st Eg 3B (bent-shaped) dTal 31U/ SU[SHT 1 GBI 8
N;, NO;, I;, O,, SO,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943194 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If the degree of dissociation of aqueous solution of weak monobasic acid is determined to be

0.3, then the observed freezing point will be —— % higher than the
expected/theoretical freezing point. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943194 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ferddt gafet AR o & wicily faag & fagier &1 3= 0.3 ur T o Ufdd fenis
Sty i ferie § —9% I grm| (Fdeaw quii )

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of correct statement/s involving equilibria in physical processes from the
following is

(A)  Equilibrium is possible only in a closed system at a given temperature.
(B)  Both the opposing processes occur at the same rate.

(C)  When equilibrium is attained at a given temperature, the value of all its parameters
became equal.

(D)  For dissolution of solids in liquids, the solubility is constant at a given temperature.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ifa® UsHl & g & ed | g 7 4 9 FyA/41 91 58 g

(A) TRl feU U AHA W, Arraw] Bad sg Fed | 8l §Hd B
®) o fudid UpH T R W B B

© Nﬁmmwmaﬂwmﬁﬁﬁ%mmwmﬂmw
GG
(D) %di A3 & Yo & e ¥ fare 3T g oM R faagar RR i 81

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943196 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Fe{;}i— +2L2W }FE3+ +L 70N }F’E-':+ 45 3 FEU

il

s e 18 x =107 V. The value of x is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943196 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



E? . . xx10°V gl x SIAAE:

Fe},=" /Fe

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A molecule undergoes two independent first order reactions whose respective half lives are
12 min and 3 min. If both the reactions are occurring then the time taken for the 50%
consumption of the reactant is ——— min. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS 3{U] &1 Wl YW Sife i ifuferany o g ome sifamy sre sag: 12 fiFe vd 3 fire
&1 afg <1 sftfant &1 @ 8 o sifieR® & 50% |ud | @ ewd § —— e

(Freveaw quifes #)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the following reactions, the total number of oxygen atoms in X and Y is

Na,0+H,0—2X

CLO, + H,0 »2Y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
o arfiferanali A, x wd v 7 siferiie wHmsT 1 Ho TBT1 ¢
Na,O0 + H, 0 — 2X
CLO, + H,0 > 2Y
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of lone pairs present on the central atom of the interhalogen IF. and IE is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR galA IF, T4 IF, & Sl WRHY] R IUTRYd UHTd! G| oI 6T 5;

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 90 Question Id : 3666943200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In potassium ferrocyanide, there are —————— pairs of electrons in the £, set of orbitals.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
UrefRraH BRIETEAIES | Beb] & 1, YT A gaac- grdi B TSI 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



